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3 3. (Bpis) A photon sirikes the ground sate electron of a hydrogen ator. The electron then <umps™
<0 an unknown higher energy level,j. The electron then “drops” to a second unknown enerey

K level, k, for which k=) - 1
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. (2 pts) What region” of the EM spectrum is associated with the mirimum energy that
cssikbbe absorbed in this process?
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4. (7pis) For the element mangansse,
2 (3 pt9) Give the complete ¢lectronic configuration:
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b.. (4 pts) On the axes below, sketch one possibility of the 90% probability plot that epresents
the sublevel of the highest cncrgy electron. Be sure to label the axes if nccessary. Then,

‘name the sublevel you have sketched.
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o
Show your work for all questions; answer all parts of all questions. No work =no credit, ('
L. (3 pts) Write the balanced, standard cathalpy of formation reaction of solid cupric hyponitrite
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2. (12 pt) Use Equations #1 - 3 below to calculte the change n enthalpy ofthe following rescton,
which cceurs at 25°C:
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BKNO:(aq) + 4NO (g)+ 14 K20 (g) = 12KoN (2) = 21 Oa(g)  AMm=___kJ ' SF
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3. (8 pts) A photon strikes the ground state clectron of a hydrogen atom. The electron the “jumps™

5 lommuakovnhighr cnrt v . T secoon e deps o o s
! B level, k. for which k = j—2.
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{ EM spectrum. Calculate the w associated with the emitted energy.
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b. (2 p15) What “region” of tae EM spectrum is associated with the minimurn energy that
‘coukdkbe absorbed in this process?
s
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Ans=_ UV

4. (7 pts) For the element itanium,
. (3p1s) Give the complete slectronic configuration:

151372543573 134

b.. (4 pis) On the axes below, sketch one possibility of the 90% prebzbility plot that epresents
the sublevel of the highes! energy electron. Be sure to label the axes if nacessary. Then,
name the sublevel you have sketched.
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Show your wark for all questians; answer all parts of all questions. No work = no credit.
5. (3 pts) Write the balanced, standard enthelpy of formation reaction of solid cobaltous perbromste.
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6. (12 pts) Use Eouations #1 - 3 below to calculate the change in enthalpy of the following reaction,
‘which occurs at 25°C:

BLINO; (aq) + 4 NO () + 14 Liz0 (§) = 12LiN (g) =21 Os(g)  Abm=___KJ
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[image: image6.png]7. (8 pi5) A photon strkes the valence electron of ithium atom. The electron then “umps” to an
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b.. (2 pts) What portion of the EM speectrum is associated with the minimum energy that could
be absorbed in this process?

Ans= iR

8. (7 p) For the element selenium,
a. (3 pts) Give the complete electronic configuration:

L A
b (¢ ) O e xes below,sktchcne possbilty of the 90% robabilty lo tht represes

the sublevel of the highest energy electron. Be suro o label the axes if ecessary. Then,
name the sublevel you have skeiched.
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